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201 er23| 18,655 21,310 A2,655
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—OISot=XelAE HIIRs
17,000,000& * 1290 & 204,000
—&3oter 2 &I == 72,090
OAlZ EHIs Xl 79,000
—0SotkexelAE JlsdH 47,000
—&IoH, A0SOt RIS J=dH
16,000,000 +29H 2= 32,000
206 MH=H| 20,000 20,000
01 M=4l 20,000 20,000
+ENSEZII(MS) S22l T 7
10,000, 0002 <2 %1 20,000
307 212+01& 144,449 160,000 15,551
05 2ItRIE = 144,449 160,000 15,551
O=ZXS=ZII(MS) AS2el 2
72,224,500 #2042 x 1 144,449
401 AIEHIX SO 40,000 390,000 /350,000
01 AlZH| 40,000 390,000 /350,000
O0tSsot=HMelAld seikl =828 89 40,000
402 2I2F X201 & 1,979,056 2,009,059 /30,003
03 2I2+LAEAIZHI 1,979,056 2,009,059 230,003
OgdESotr-Ald 2ciid 23|
244,882,000 +8E 1,959,056
O SSot=AlE el 2EHSH|
dats 20,000
Y 2AAH|(BEES) 42,228 46,800 N4,572
=&l 42,228 46,800 N4,572
SFES ) JI=2ZH| 42,228 46,800 N4,572
201 2= 18,468 20,520 A2,052
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2A:

LT
£l
L EHR(B1H) - HIRARSS - A
At22telt] 18,468 20,520
OsAo &t 14,772
OS &l SH0IA 3,6%
202 04| 20,160 22,680
01 2LHAH| 20,160 22,680
OF A0 & 20,160
203 SR =L 3,600 3,600
M FA2HLRFAI 3,600 3,600
O3l fM2 300,000& 122 3,600
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